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1. Which of the following would be a 
valid charitable trust ?  
(A)   A trust to educate my 

relatives  
(B) A rust to preach to my 

relatives  
(C) A trust to care for my sick 

relatives  
(D) A trust to relieve the poverty 

of my relatives  

 1. fuEufyf[kr esa ls dkSu fof/kd [kSjkrh U;kl 

gS \ 

(A) lEcfU/k;ksa dks f’kf{kr djus okyk U;kl 

(B) vius lEcfU/k;ksa dks /kkfeZd mins’k 

fnykus gsrq U;kl  

(C) vius chekj lEcfU/k;ksa dh ns[kHkky ds 

fy;s U;kl 

(D) vius fj’rsnkjksa dh xjhch nwj djus ds 

fy;s xfBr U;kl  

2. According to Stack Vs Dowden 
(2007) 2AC 432 it the couple hold 
the legal estate jointly the Court : 
(A)   Must examine the whole 

course of dealing to find 
common intention  

(B) Must presume that there is 
also joint beneficial 
ownership  

(C) Has discretion to award fair 
shares  

(D) None of the above  

 2. LVsd cuke MkmMsu ¼2007½ 2 ,lh- 432 ds 
vuqlkj tgk¡ tksMs+ }kjk la;qDr fof/kd 
lEifÙk /kkfjr fd;k x;k gS ogk¡ U;k;ky; % 
(A) lkekU; vk’k; ds fu/kkZj.k gsrq 

laO;ogkj ds iw.kZ Hkkx dk ijh{k.k 
djsxk 

(B) mi/kkfjr dj ysxk fd ogk¡ la;qDr 
ykHkdkjh LokfeRo Fkk 

(C) mudk lgh fgLlk r; djus esa vius 
foosd dk iz;ksx djsxk 

(D) mijksDr esa ls dksbZ ugha 
3. The first category of constructive 

trust in Leoyds Vs Rosset case, the 
agreement based on :  
(A)   Evidence of express 

discussion between the 
couple  

(B) Inferred from the couple’s 
whole course of dealing in 
relation to the house  

(C) Decided by the Court on the 
basis of fairness  

(D) None of the above  

 3. yk;M cuke jks’ksV ds ekeys esa izFke Js.kh 
dh jpukRed U;kl dk djkj vk/kkfjr Fkk % 
(A) tksMs+ ds e/; Li”V okrkZyki ds lk{; 

Fks 
(B) ?kj ds lanHkZ esa tksMs+ ds lEiw.kZ 

lEO;ogkj ls earO; fudkyk x;k  
(C) et̀qrk ds vk/kkj ij U;k;ky; }kjk 

fuf.kZr fd;k x;k Fkk  
(D) mijksDr esa ls dksbZ ugha 
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4. Why was there a proprietary 
estoppel in Thorner Vs Major ? 
(A)   Because Thorner acted to his 

detriment  
(B) Because reliance could be 

proved in Thorner but not in 
Yeoman’s  

(C) Because there was a 
representation that the 
claimant would acquire an 
interest in land in Thorner, 
but not in Yeoman’s  

(D) None of the above  

 4. FkkuZj cuke estj esa LokfeRo focU/ku D;ksa Fkk \ 
(A) D;ksfd FkkuZj blesa vius fy;s gkfuizn 

dk;Z dj jgk Fkk 
(B) D;kasfd FkkuZj ij Hkjkslk lkfcr Fkk] 

;kseUl ij ugha 
(C) D;ksfd ogk¡ nkok djus okyksa }kjk 

vkosnu nsdj FkkuZj dh Hkwfe esa :fp 
tkfgj fd;k x;k Fkk ;kseUl esa ugha  

(D) mijksDr esa ls dksbZ ugha 

5. In the case of Twinsectra Vs 
Yardley (2002) AC 164, What was 
the main objection ?  
(A)   A loan is a contract and does 

not involve a trust  
(B) A private trust cannot be for a 

purpose, it must be 
identifiable beneficiaries  

(C) The parties did not intend to 
create a trust  

(D) None of the above  

 5. V~foulsDVªk cuke ;kMZys ¼2002½ , lh 164 
ds ekeys esa eq[; vkifÙk fdl ckr dh Fkh \ 
(A) _.k ,d lafonk gS vkSj og U;kl ls 

lEcfU/kr ugha gks ldrk 
(B) ,d O;fDrxr U;kl vius mÌs’; ls 

nwj ugha gks ldrk] mldh igpku 
mlds fgrkf/kdkfj;ksa ls gksrh gS  

(C) i{kdkjksa dk vk’k; U;kl dk fuekZ.k 
ugha Fkk  

(D) mijksDr esa ls dksbZ ugha 
6. Who hold the equitable interest in 

a trust ?  
(A)   The beneficiaries  
(B) The trustees  
(C) The settlor  
(D) None of the above  

 6. ,d U;kl esa lkfE;d fgr dkSu /kkfjr djrk gS \ 
(A) fgrkf/kdkjh 
(B) U;klhx.k 
(C) O;oLFkkid  
(D) mijksDr esa ls dksbZ ugha 

7. Section-14 of Indian Trust Act 
deals with : 
(A)   Lawful purpose  
(B) Conversion of perishable 

property  
(C) Trustee not to be set up title 

adverse to beneficiary  
(D) Investment of Trust money  

 7. Hkkjrh; U;kl vf/kfu;e dh /kkjk&14 
izkfo/kku djrk gS % 
(A) fof/kd mÌs’; 
(B) uk’koku lEifÙk ds lEifjorZu 
(C) U;klh U;kl dk U;kl/kkfj;ksa ds 

foijhr O;oLFkk ugha dj ldrk 
(D) U;kl /ku dk fu;kstu  

8. Who may create trust which 
Section of Indian Trust Act 1882 
deals ? 
(A)   Section-04 
(B) Section-05 
(C) Section-07 
(D) Section-09 

 8. Hkkjrh; U;kl vf/kfu;e 1882 dh dkSu lh 
/kkjk ^^dkSu U;kl dh jpuk dj ldrk gS** 
dh O;oLFkk djrk gS \ 
(A) /kkjk&04 
(B) /kkjk&05 
(C) /kkjk&07 
(D) /kkjk&09 
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9. Which Section of Indian Trust Act 
1882 deals with Trust of moveable 
and immovable property ? 
(A)   Section-04 
(B) Section-05 
(C) Section-07 
(D) Section-09 

 9. fuEufyf[kr esa ls Hkkjrh; U;kl vf/kfu;e 
1882 dh dkSu lh /kkjk py ,oa vpy 
lEifÙk dh ckr djrh gS \ 
(A) /kkjk&04 
(B) /kkjk&05 
(C) /kkjk&07 
(D) /kkjk&09 

10. Section 34 of the Indian Trust Act 
1882 provides :  
(A)   Trustee may not change for 

services  
(B) Indemnity of trustees  
(C) Right to apply to court for 

opinion in management of 
Trust property  

(D) None of the above  

 10. Hkkjrh; U;kl vf/kfu;e&1882 dh /kkjk&34 
micU/k djrh gS % 
(A) U;kldrkZ lsokvksa ds fy;s Hkqxrku ugha 

ys ldrk 
(B) U;klh ds {kfriwfrZ 
(C) U;kl dh lEifÙk ds izcU/k ds fy;s 

U;k;ky; ds er gsrq vkosnu dk 
vf/kdkj 

(D) mijksDr esa ls dksbZ ugha 
11. Sec. 25 of the Indian Trust Act 

1882 deals with : 
(A)   Right of title-deed 
(B) Non-liability for 

predecessor’s default  
(C) Trustee cannot renounce after 

acceptance 
(D) Sale by trustee directed to sell 

within the specified time  

 11. Hkkjrh; U;kl vf/kfu;e&1882 dh /kkjk&25 
lEcfU/kr gS % 
(A) LoRo&foys[k ds vf/kdkj 
(B) iwoZtks dh xyrh ds fy;s 

vuqÙkjnkf;Ro  
(C) U;kldrkZ] LohÑfr ds i'pkr mldk 

R;kx ugha dj ldrk gS 
(D) U;klh }kjk fu/kkZfjr le; ds vUnj 

foØ; dk fu”iknu gsrq 
12. Which of the following Section of 

Indian Trust Act-1882 deals with 
the conversion perishable 
property?  
(A)   Sec. 13  
(B) Sec. 14 
(C) Sec. 16 
(D) Sec. 18 

 12. fou”V gksus okyh lEifÙk ds lEcU/k esa 
Hkkjrh; U;kl vf/kfu;e&1882 dh dkSu lh 
/kkjk ckr djrh gS \ 
(A) /kkjk&13 
(B) /kkjk&14 
(C) /kkjk&16 
(D) /kkjk&18 

13. Which Section of Indian Trust Act 
deals with the who may be 
beneficiary ?  
(A)   Sec. 09  
(B) Sec. 12 
(C) Sec. 14 
(D) Sec. 20 

 13. Hkkjrh; U;kl vf/kfu;e dh dkSu lh /kkjk 
fgrkfrf/kdjh dkSu gS ls lEcfU/kr gS \ 
(A) /kkjk&09 
(B) /kkjk&12 
(C) /kkjk&14 
(D) /kkjk&20 
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14. When did the Indian Trust Act 
1882, come into force ? 
(A)   01 April 1882 
(B) 01 March 1882 
(C) 23 April 1882 
(D) 23 March 1882 

 14. Hkkjrh; U;kl vf/kfu;e 1882 dc izHkko esa 
vk;k \ 
(A) 01 vizSy 1882 
(B) 01 ekpZ 1882 
(C) 23 vizSy 1882 
(D) 23 ekpZ 1882 

15. Which of the following are the 
examples of Equitable remedies ? 
(A)   Specific performance  
(B) Issuing injunction  
(C) Appointment of receiver  
(D) All of the above  

 15. fuEufyf[kr esa ls dkSu lkfE;d mipkj dk 
mnkgj.k gS \ 
(A) fof’k”V vuqikyu 
(B) O;kns’k tkjh djuk 
(C) lekiu dh fu;qfDr 
(D) mijksDr lHkh 

16. The Judicial remedies developed 
by Court of equity at a time of 
Henry VIII are called :  
(A)   Legal remedy  
(B) Equitable remedy  
(C) Extra-Judicial remedy  
(D) All of the above  

 16. lkE;k dksVZ }kjk gsujh&VIII ds le; esa 
fodflr U;kf;d mipkj dgykrk gS % 
(A) fof/kd mipkj 
(B) lkfE;d mipkj 
(C) ckg~;&U;kf;d mipkj 
(D) mijksDr lHkh 

17. Which of the following are the 
examples of the maxim “He who 
seeks Equity must do Equity” ?  
(A)   Doctrine of Election  
(B) Equitable estoppel  
(C) Set-off 
(D) All of the above  

 17. fuEufyf[kr esa ls dkSu ^^tks lkE;k pkgrk gS 
mls lkE;k djuk iMs+xk** lw= dk mnkgj.k 
gS \ 
(A) pquko dk fl)kUr 
(B) lkfE;d focU/ku 
(C) eqtjkbZ 
(D) mijksDr lHkh  

18. Which of the following case 
related to maxim “Equity follows 
the Law” ? 
(A)   Stickland Vs Aldridge  
(B) Appa Narsappa Magdum Vs 

Akubani Ganpati Nimbalkar  
(C) Both (A) and (B) 
(D) None of the above  

 18. fuEufyf[kr esa ls dkSu lk ekeyk ^^lkE;k 
fof/k dk vuqlj.k djrh gSA** lw= ls 
lEcfU/kr gS \ 
(A) fLVdyS.M cuke vkYMªht 
(B) vIik ukjlIik eSxMe cuke vdqEcuh 

xuifr fuEckydj 
(C) mijksDr (A) vkSj (B) 
(D) mijksDr esa ls dksbZ ugha 
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19. What is the importance of Lord 
Eldon ?  
(A)   He was Lord Chancellor for a 

long time  
(B) He established the system of 

Law known as equity  
(C) He established a system of 

precedent in equity  
(D) None of the above  

 19. ykMZ ,YMu dk D;k egRo gS \ 
(A) os yEcs le; rd ykMZ pkUlyj Fks 
(B) mUgksaus ,slh fof/k iz.kkyh dks LFkkfir 

fd;k ftls lkE;k ds uke ls tkuk 
tkrk gS  

(C) mUgksaus lkE;k esa izkaXkU;k; ds iz.kkyh 
dks fodflr fd;k 

(D) mijksDr esa ls dksbZ ugha 

20. What is the importance of the Earl 
of Oxford’s Case (1615) ? 
(A)   It established the fraud would 

no longer  
(B) It developed the use of 

Injunction 
(C) It showed the power of King 
(D) It established that equity 

prevailed over the Common 
Law 

 20. ^vyZ vkQ vkDlQksMZ* ds ekeys dk D;k 
egRo gS \ 
(A) ekeys esa LFkkfir fd;k x;k fd diV 

yEcs le; rd ugha fVd ldrk 
(B) blesa O;kns’k ds iz;ksx dks fodflr 

fd;k x;k  
(C) ;g jktk dh ‘kfDr dks iznf’kZr djrk 

gS  
(D) blesa LFkkfir fd;k x;k fd lkE;k 

dkeu yk ij izHkkoh gS 
21. How did the lord chancellor 

become a Judge ? 
(A)   He dealt with petitions in the 

King 
(B) He administered the court 

system  
(C) He issued writs 
(D) None of the above  

 21. ykMZ pkUlyj dc ,d U;k;k/kh’k dh Hkwfedk 
esa gksrs gSa \ 
(A) tc os jktk dks fn;s ;kfpdkvksa dk 

fuLrkj.k djrs gSa 
(B) tc os U;k;ky;h iz.kkyh dk iz’kklu 

djrs gSa 
(C) tc os fjV tkjh djrs gSa 
(D) mijksDr esa ls dksbZ ugha 

22. What is the meaning of the word 
‘Equity’ ? 
(A)   The ability to make 

exceptions to the legal rules 
(B) The body of Law developed 

by the Court of Chancery  
(C) Fairness  
(D) None of the above  

 22. ^lkE;k* ‘kCn dk D;k vFkZ gS \ 
(A) fof/kd fu;eksa ds viokn l̀ftr djus 

dh {kerk 
(B) pkUljh dksVZ }kjk fodflr fof/k dk 

Lo:i  
(C) _̀tqrk 
(D) mijksDr esa ls dksbZ ugha 
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23. Equity courts could be 
approached: 
(A)   As a matter of Right  
(B) As a matter of Property  
(C) Both (A) and (B) 
(D) None of the above 

 23. lkE;k U;k;ky; dh igq¡p gksrh gS % 
(A) vf/kdkj ds ekeyksa esa 
(B) lEifÙk ds ekeyksa esa 
(C) mijksDr nksuksa (A) vkSj (B) 
(D) mijksDr esa ls dksbZ ugha 

24. Who defined “equity as the spirit 
and soul of all Laws” ? 
(A)   Blackstone  
(B) Plato  
(C) Metland  
(D) Austine  

 24. ^^lkE;k lHkh fof/k;ksa dh izk.k ,oa vkRek gS** 
fdlus ifjHkkf”kr fd;k % 
(A) CySdLVksu 
(B) IysVks 
(C) esVsyS.M 
(D) vkfLVu 

25. In case of conflict between equity 
and the text of Law the Court shall 
choose : 
(A)   Equity  
(B) Text of Law 
(C) Have the discretion to choose 

between equity and Law  
(D) None of the above  

 25. fof/kd izlaxfr ,oa lkE;k ds chp erHksn dh 
fLFkfr esa U;k;ky; }kjk viuk;k tk;sxk % 
(A) lkE;k dks 
(B) fof/kd izlaxfr dks 
(C) mUgsa foosdkf/kdkj gS fd os pkgs rks 

fof/k viukosa ;k lkE;k 
(D) mijksDr esa ls dksbZ ugha 

26. English rule of equity have been :  
(A)   Substantially incorporated by 

the Indian Legislature  
(B) Partially incorporated by the 

Indian Legislation  
(C) Wholly incorporated by the 

Indian Legislation  
(D) None of the above 

 26. lkE;k :ih vk¡Xy fof/k dks % 
(A) Hkkjrh; fo/kkuikfydk }kjk dkQh gn 

rd viuk;k x;k gS 
(B) Hkkjrh; fo/kkuikfydk }kjk va’kr% rd 

viuk;k x;k gS 
(C) Hkkjrh; fo/kkuikfydk }kjk iw.kZr;k 

rd viuk;k x;k gS 
(D) mijksDr esa ls dksbZ ugha 

27. The Primary Source of Equity is :  
(A)   Custom  
(B) Written law 
(C) Judicial decisions 
(D) Conscience  

 27. lkE;k dk izkFkfed lzksr gS % 
(A) izFkk 
(B) fyf[kr fof/k  
(C) U;kf;d fu.kZ; 
(D) var%dj.k@ln~foosd 
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28. Why did the system of Law known 
as Equity come into existence ? 
(A)   To supliment and modify the 

injustices of the Common 
Law 

(B) To provide a small claims 
court 

(C) To reform the law 
(D) None of the above 

 28. fof/k iz.kkyh esa dc tkuk tkrk gS fd lkE;k 

dk vfLrRo gS \ 

(A) dkeu yk esa vU;k; ds vuqiwjd ,oa 

la’kks/ku ds fy, fodYi ds :i esa 

(B) lw{e nkok U;k;ky; dh miyC/krk 

(C) fof/k esa lq/kkj 

(D) mijksDr esa ls dksbZ ugha 

29. Which one of the following is false 
in the context of Equitable 
compensation ? 
(A)   Delay defeats equity  
(B) The limitation period of a 

claim for equitable 
compensation can be 
extended 

(C) Reasonable foreseeability is a 
key factor in determining the 
level of loss that can be 
compensated  

(D) None of the above  

 29. lkfE;d izfrdj ds lanHkZ esa fuEufyf[kr esa 

ls dkSu xyr gS \ 

(A) foyEc lkE;k dks ijkftr djrk gS 

(B) lkfE;d izfrdj ds nkos dh fe;kn dks 

vkxs c<+k;k tk ldrk gS 

(C) ;qfDr;qDr nwjnf’kZrk {kfr fu/kkZj.k dk 

ek=k dh dlkSVh gS ftldk izfrdj 

fn;k tkuk gS 

(D) mijksDr esa ls dksbZ ugha 

30. Which of the following best 
describes the nature of Equitable 
remedies ? 
(A)   They are only granted where 

a common law remedy would 
also be due 

(B) They are discretionary in 
nature and depend upon the 
availability and adequacy of 
common law remedies  

(C) They are awarded as a right  
(D) None of above  

 30. fuEufyf[kr esa ls dkSu lkfE;d mipkjksa ds 
izÑfr dks csgrj <ax ls Li”V dj jgk gS \ 
(A) os dsoy ogh fn, tkrs gSa tgk¡ dkeu 

yk mipkj ns; gS 
(B) os izkÑfrr% foosdk/khu gksrh gSa vkSj 

dkeu yk mipkj ds miyC/krk rFkk 
Ik;kZIrr% ij fuHkZj djrh gS 

(C) os vf/kdkj Lo:i iznku dh tkrh gS 
(D) mijksDr esa ls dksbZ ugha  
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31. If there is one principle of Equity 
that can be said to be of most 
significant to its operation and 
indeed its existence it is : 
(A)   Equity is triggered by 

unconscionability  
(B) Equity will not suffer a 

wrong without a remedy  
(C) Equity looks to substance 

rather than form  
(D) Equity follows the law  

 31. ;fn lkE;k ds iz;ksx ds nf̀”Vdks.k ls 

fl)kUrksa dks ns[kk tk; rks vR;Ur egRoiw.kZ 

fl)kUr gS % 

(A) lkekU; vpsruk }kjk mRizsfjr gS 

(B) lkE;k fdlh viÑR; ds fcuk mipkj 

ugha jgus nsxh 

(C) lkE;k fo”k; oLrq ns[krh gS] izk:Ik 

ugha 

(D) lkE;k fof/k dk vuqlj.k djrh gS 

32. Which equitable maxim would be 
applicable in Highway man case ?   
(A)   Those who seek equity must 

do equity 
(B) Equity treats as done that 

which out to be done  
(C) Equity will not assist a 

volunteer 
(D) Those who come to equity 

must come with clean hand  

 32. fuEufyf[kr esa ls dkSu lk lkfE;d lw= 
cVekjks ds okn esa iz;qDr fd;k x;k \ 
(A) lkE;k dh vis{kk djus okys dks Lo;a 

Hkh lkE;k dk O;ogkj djuk pkfg, 
(B) lkE;k tks fd;k tkuk pkfg, mlh dks 

fd;k x;k ekurh gS 
(C) lkE;k dks fdlh dh lgk;rk dh 

vko’;drk ugha gS 
(D) lkE;k dh ‘kj.k esa vkus okys dks 

fueZy gkFkksa ls vkuk pkfg, 
33. The phrase “English Legal 

System” refers to : 
(A)   The Legal System of England 

and Wales  
(B) The Legal System of England 

only  
(C) The Legal System of 

England, Wales and Scotland 
(D) The Legal System of United 

Kingdom  

 33. mfDr ^^vk¡Xy fof/k iz.kkyh** dk vk’k; gS % 

(A) baXyS.M vkSj osYl ds fof/k iz.kkyh ls  

(B) dsoy baXyS.M ds fof/k iz.kkyh ls 

(C) baXyS.M] osYl vkSj LdkVyS.M dh 

fof/k iz.kkyh ls 

(D) ;wukbVsM fdaxMe ds fof/k iz.kkyh ls 
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34. Statute Law refers to : 
(A)   Law created by judges 

through the deciding of cases 
(B) To mitigate the harshness of 

the common law by deciding 
cases based on fairness and 
equality   

(C) The body of Law regulate 
relationship between the state 
and its citizens  

(D) The body of laws creates by 
Parliament in the form of 
legislation  

 34. lafof/kd fof/k lanfHkZr djrk gS % 
(A) ekeys esa fn;s x;s fu.kZ; }kjk 

U;k;k/kh’k fof/k;ksa dk fuekZ.k djrs gSa 
(B) dkeu yk }kjk fu.khZr ekeyksa esa 

mRiUu dfBukb;ksa dks lkE;k rFkk 
cjkcjh ds vk/kkj ij nwj fd;k tkrk 
gS 

(C) fof/k }kjk jkT; rFkk mlds ukxfjdksa 
ds lEcU/kksa dks fofu;fer fd;k tkrk 
gS 

(D) fof/k laln }kjk fo/kk;u ds ek/;e ls 
cuk;h tkrh gS 

35. Which of the following countries 
does not have a Common Law 
Legal System ? 
(A)   England  
(B) Australia   
(C) U.S.A. 
(D) France  

 35. fuEufyf[kr esa ls dkSu lk ns’k dkeu yk 
fof/k iz.kkyh /kkfjr ugha djrk \ 
(A) baXyS.M 
(B) vkLVªsfy;k 
(C) ;w-,l-,- 
(D) Ýkal 

36. Which of the following is not a 
meaning of the term “Common 
Law” ? 
(A)   The body of Law as made by 

Judges though the 
determination cases  

(B) A Legal System that is based 
on that of England  

(C) Law created by Parliament  
(D) None of the above  

 36. fuEufyf[kr esa ls dkSu ^^dkeu yk** ‘kCn dk 
vFkZ ugha gS \ 
(A) ekeys ls lacfU/kr U;k;k/kh’k fof/k 

cukrk gS 
(B) baXyS.M dh fof/k iz.kkyh ftl ij 

vk/kkfjr gS  
(C) laln }kjk fof/k dk fuekZ.k fd;k 

tkrk gS  
(D) mijksDr esa ls dksbZ ugha 

37. Which of the following make up 
the Three Certainties ? 
(A)   Certainty of intention, 

purpose and subject  
(B) Certainty of Trust, intention 

and purpose  
(C) Certainty of object, subject 

and confidence  
(D) Certainty of intention, subject 

and object  

 37. fuEufyf[kr esa ls dkSu rhu laHkkouk,a cukrh 
gS \ 
(A) vk’k;] mÌs’; vkSj fo”k; dh laHkkouk 
(B) U;kl] vk’k; vkSj mÌs’; dh laHkkouk,a 
(C) mÌs’;] fo”k; vkSj fo’okl dh 

laHkkouk,a 
(D) vk’k;] fo”k; vkSj mÌs’; dh laHkkouk,a 
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38. Which of the following is not an 
equitable maxim ? 
(A)   Equity will not suffer a 

wrong without a remedy  
(B) Equity acts on personam  
(C) Equity sees as done that 

which ought to be done  
(D) Equity looks to form, not 

intent  

 38. fuEufy[kr esa ls dkSu lkfE;d lw= ugha gS\ 
(A) lkE;k fdlh viÑR; esa vipkj foghu 

ugha jgus nsxh 
(B) lkE;k dh fØ;k O;fDr ls lEcU/k 

j[krh gS 
(C) lkE;k tks fd;k tkuk pkfg;s mlh dks 

fd;k x;k ekurh gS  
(D) lkE;k :i dks ns[krh gS] vk’k; dks 

ugha 
39. What is the purpose of the Equity? 

(A)   To gloss over and mollify the 
injustices of the Common 
Law 

(B) To provide an alternative 
system of Law 

(C) To allow for the recognition 
of Trusts  

(D) To provide a quicker system 
of Justice  

 39. LkkE;k dk mÌs’; D;k gS \ 

(A) dkeu yk ds vU;k; dks ‘keu djus 

vkSj ml ij ped ykus dk 

(B) fof/k iz.kkyh ds fodYi ds :i esa 

(C) U;kl ds ekU;rk dks vuqer djus dks 

(D) U;k; dh rhoz iz.kkyh miyC/k djkuk  

40. Which of the following is not an 
equitable remedy ? 
(A)   Injunction  
(B) Damages 
(C) Specific performance  
(D) None of the above  

 40. fuEufy[kr esa ls dkSu lkfE;d mipkj ugha 
gS \ 
(A) O;kns’k 
(B) {kfriwfrZ 
(C) fof’k”V vuqikyu 
(D) mijksDr esa ls dksbZ ugha 

41. Jeremy Bentham’s Principle 
‘greatest happiness” based on : 
(A)   Principle of Utility  
(B) Principle of Equity 
(C) Principle of Equality  
(D) Principle of Justice  

 41. tsehZ csUFke dk fl)kUr ^^cgqtu lq[kk;** ij 
vk/kkfjr gS % 
(A) mi;ksfxrk ds fl)kUr ij 
(B) lkE;k ds fl)kUr ij 
(C) lekurk ds fl)kUr ij 
(D) U;k; ds fl)kUr ij 

42. The maxim that “delay defeats 
equity” express which doctrine ? 
(A)   The doctrine of luckies  
(B) The doctrine of leeches 
(C) The doctrine of laches 
(D) The doctrine of catches  

 42. ^^foyEc lkE;k dks ijkftr djrk gS** lw= 
fdl fl)kUr dks O;Dr djrk gS \ 
(A) vuqlj.k dk fl)kUr 
(B) ijthoh dk fl)kUr 
(C) vlko/kkuh dk fl)kUr 
(D) isphnxh dk fl)kUr 
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43. The Judicature Acts- 1873-75 
provide equitable remedies from 
which of the following Courts ? 
(A)   Common Law Courts 
(B) The Chancery Courts 
(C) The House of Lords 
(D) All of above  

 43. fuEufyf[kr esa ls fdl U;k;ky; esa 
tqfMdspj ,DV &1873&1875 }kjk lkfE;d 
mipkj iznku fd;k tkrk Fkk \ 
(A) dkeu yk dksVZ~l 
(B) n pkUljh dksVZ~l 
(C) n gkml vkWQ ykWMZ~l 
(D) mijksDr lHkh esa 

44. Complete the maxim “Equity 
is_______”. 
(A)   Fairness 
(B) Equality  
(C) Justice  
(D) Reasonability  

 44. lw= dks iw.kZ dfj, & 
^^bfDoVh_______ bt**A 
(A) Qs;jus’k 
(B) bDosfyVh 
(C) tfLVl 
(D) fjtusfcfyVh 

45. The equitable maxim “He who 
seeks equity must do equity” deals 
with what type of behaviour ? 
(A)   The future behaviour of the 

claimant  
(B) The past behaviour of the 

claimant  
(C) The future behaviour of the 

parties  
(D) The past behaviour of the 

defendant  

 45. lkE;k dk lw= & ^^lkE;k dh vis{kk djus 
okys dks Lo;a Hkh lkE;k dk O;ogkj djuk 
pkfg,* fdl rjg ds O;ogkj ls lEcfU/kr 
gS\ 
(A) nkok djus okys ds Hkfo”; ds vkpj.k 

dks  
(B) nkok djus okys ds Hkwrdky ds 

vkpj.k ds lanHkZ dks 
(C) i{kdkjksa ds HkfOk”; ds vkpj.k dks  
(D) izfroknh ds Hkwrdkyhu vkpj.k ds 

lanHkZ esa 

46. The case of Penn Vs Lord 
Baltimore demonstrates which 
equitable maxim ? 
(A)   Equity looks to intent, not 

form 
(B) Equity acts in personam  
(C) He who comes to equity must 

come with clean hands 
(D) Equity follows the law 

 46. ^isu cuke ykMZ ckYVheksj* dk ekeyk 
fuEufyf[kr esa ls fdl lkfE;d lw= dks 
iznf’kZr djrk gS \ 
(A) lkE;k :i dks ugha vk’k; dks ns[krh 

gS 
(B) lkE;k dh fØ;k O;fDr ls lEcU/k 

j[krh gS 
(C) lkE;k dh ‘kj.k esa vkus okys dks 

fueZy gkFkksa ls vkuk pkfg;s 
(D) lkE;k fof/k dk vuqlj.k djrh gS 
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47. Which of the following statements 
best describe the function of 
Equity ? 
(A)   Equity intervenes to prevent 

handships which arise from 
the strict application of 
common law rules 

(B) In general equity tends to pay 
closer attention the fact of 
individual case 

(C) Both (A) and (B) 
(D) None of the above  

 47. fuEufyf[kr esa ls dkSu lk dFku lkE;k ds 
dk;Z dks csgrj <ax ls ifjHkkf”kr djrk gS \ 
(A) lkE;k dkeu yk fu;eksa ds dBksj 

iz;ksx ls mRiUu dfBukb;ksa dks nwj 
djus ds fy;s n[ky nsrh gS 

(B) lkEkkU;r;k lkE;k O;fDrxr rF;ksa ij 
utnhdh :i ls /;ku nsrh gS 

(C) mijksDr nksuksa (A) vkSj (B) 
(D) mijksDr esa ls dksbZ ugha 

48. Which Act was responsible for 
unitying the administration of the 
Courts of Equity and the Common 
Law Courts ?  
(A)   The Supreme Court Act 
(B) Provisions of Oxford 
(C) The Statute of West minister  
(D) The Judicature Act 1873-75 

 48. dkSUk lk vf/kfu;e bfDoVh dksVZ ,oa dkeu 
ykW dksVZ ds e/; iz’kklu rFkk ,dhdj.k ds 
fy, ftEesnkj Fkk \ 
(A) n lqizhe dksVZ ,DV 
(B) izkfotUl vkQ vkDlQksMZ 
(C) n LVsV~;wV vkWQ osLV fefuLVj 
(D) n twfMdspj ,DV~l & 1873&1875 

49. What was the significance of the 
Earl of Oxfored’s case ? 
(A)   The case resolved the 

ongoing battle for authority  
between Church and the 
State 

(B) The case established the 
principle that where equity 
and the common law conflict, 
equity prevails  

(C) Both (A) and (B) 
(D) None of the above  

 49. ^vyZ vkWQ vkDlQksMZ* ekeys dk D;k egRo 
gS \ 
(A) ppZ vkSj jkT; ds e/; la?k”kZ ds 

fujkdj.k ds :i esa 
(B) tgk¡ dkeu yk ,oa lkE;k ds chp 

erHksn gS ogk¡ lkE;k izHkkoh gksxh ds 
fl)kUr dh LFkkiuk ds :i esa 

(C) mijksDr nksuksa (A) vkSj (B) 
(D) mijksDr esa ls dksbZ ugha 

50. Why was the system of Law 
known as Equity created ? 
(A) To supliment and modify the 

Injustice of the Common 
Law 

(B) To provide a quicker system 
of Justice  

(C) To reform the Law 
(D) To allow the recognition of 

Trust  

 50. fof/k iz.kkyh dks lkE;k tfur D;ksa tkuk 
tkrk Fkk \ 
(A) dkeu yk ds U;k; dss fodYi ,oa 

la’kks/ku ds fy, 
(B) U;k; ds rst iz.kkyh ds :Ik esa 
(C) fof/k la’kks/ku ds fy,  
(D) U;kl ds ekU;rk ds vuqefr ds fy,  
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51. Which of the following is a 
fiduciary allowed to do ? 
(A)   Make a profit from the trust 
(B) Act in good faith 
(C) Act for his own benefit  
(D) Act for the benefit of third 

party  

 51. fuEufyf[kr esa ls fdldks oS’okfld :i ls 
fd;k tkuk vuqer gS \ 
(A) U;kl ls ykHk cukuk 
(B) ln~&fo’okl esa dk;Z djuk 
(C) vius ykHk ds fy, dk;Z djuk  
(D) rhljs i{kdkj ds ykHk ds fy, dk;Z 

djuk 
52. Which of the following relations 

under fiduciary relations ?  
(A)   Banker 
(B) Director of a company 
(C) Joint family manager  
(D) All of the above  

 52. fuEufyf[kr esa ls dkSu oS’okfld lEcU/k  ds 
vUrxZr vkrk gS \ 
(A) cSadj 
(B) dEiuh ds MkbjsDVj 
(C) la;qDr dqVqEc dk izca/kd  
(D) mijksDr lHkh  

53. What are the classification of 

equitable remedies ?  

(A)   Rectification of instruments 

(B) Rescission of contracts  

(C) Both (A) and (B) 

(D) None of the above 

 53. lkfE;d vuqrks”kksa dk oxhZdj.k D;k gS \ 

(A) izys[kksa dh ifj’kqf) 

(B) lafonkvksa dk fo[kaMu  

(C) mijksDr (A) vkSj (B) 

(D) mijksDr esa ls dksbZ ugha 

54. Which of the following are 

principle on which equitable relief 

is granted ?  

(A)   He who comes to equity, 

must come with clean hand  

(B) He who seeks equity must do 

equity  

(C) Delay defeat equity  

(D) All of the above  

 54. fuEufyf[kr esa os dkSu fl)kUr gS ftlds 

vk/kkj ij lkfE;d vuqrks”k iznku fd;k tk 

ldrk gS \ 

(A) tks lkE;k ds ‘kj.k esa vkrk gS mldks 

LoPN gkFkksa vkuk pkfg;s 

(B) tks lkE;k pkgrk gS mldks lkE;k 

djuk pkfg, 

(C) foyEc lkE;k dks ijkftr djrk gS 

(D) mijksDr lHkh 
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55. What are the remedies open to 
beneficiary in case of breach of 
trust ?  
(A)   Relief against the trustee 

personally  
(B) Right to follow trust property  
(C) Both (A) and (B) 
(D) None of the above 

 55. U;klHkax dh n’kk esa fgrxzkfg;ksa dks miyC/k 

mipkj  D;k gSa \ 

(A) O;fDrxr :i ls U;kl/kkjh ds fo:) 

vf/kdkj 

(B) U;kl fof/k vuqlj.k dk vf/kdkj 

(C) mijksDr (A) vkSj (B) 

(D) mijksDr esa ls dksbZ ugha 

56. What are the Rights of 

Beneficiary? 

(A)   Right to rents and profit  

(B) Right to specific execution  

(C) Right to put an end to the 

trust  

(D) All of the above  

 56. fgrxzkfg;ksa ds D;k vf/kdkj gSa \ 

(A) fdjk;k ;k ykHk izkIr djus dk 

vf/kdkj 

(B) fof’k”V fu”iknu dk vf/kdkj 

(C) U;kl lekIr djus dk vf/kdkj  

(D) mijksDr LkHkh 

57. What are the statutory powers of 

Trustees ?  

(A)   Power in relation to the 

conduct sale of trust property  

(B) Power to vary investment  

(C) Both (A) and (B) 

(D) None of the above 

 57. U;kl/kkjh dh lafof/kd ‘kfDr;k¡ D;k gSa \ 

(A) U;kl lEifÙk ds foØ; dh ‘kfDr 

(B) fofu;kstu esa ifjorZu djus dh ‘kfDr 

(C) mijksDr (A) vkSj (B) 

(D) mijksDr esa ls dksbZ ugha 

58. What are the rights of trustees ?  

(A)   Right to title deed  

(B) Right to Re-imbursement and 

identity 

(C) Right to take direction from 

court 

(D) All of the above  

 58. U;kl/kkfj;ksa ds D;k vf/kdkj gksrs gSa \ 

(A) LoRo foys[k dk vf/kdkj 

(B) [kpkZsa dh izfriwfrZ rFkk {kfriwfrZ dk 

vf/kdkj 

(C) U;k;ky; ls funZs’k izkIr djus dk 

vf/kdkj 

(D) mijksDr LkHkh 
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59. What are the duties of a trustee :  
(A)   Positive duty  
(B) Negative duty  
(C) Both (A) and (B) 
(D) None of the above 

 59. U;kl/kkjh ds drZO; gksrs gSa % 
(A) fu’p;kRed@ldkjkRed nkf;Ro 
(B) udkjkRed nkf;Ro 
(C) mijksDr (A) vkSj (B) 
(D) mijksDr esa ls dksbZ ugha 

60. Who are the parties in a trust ?  
(A)   Trustee  
(B) Testator  
(C) Both (A) and (B) 
(D) None of the above  

 60. ,d U;kl esas i{kdkj dkSu gksrs gSa \ 
(A) U;kl/kkjh 
(B) U;kldrkZ 
(C) mijksDr (A) vkSj (B) 
(D) mijksDr esa ls dksbZ ugha 

61. What are the nature of charitable 
trust :  
(A)   Indefiniteness 
(B) Meritoriousness  
(C) Perpetuity  
(D) All of the above  

 61. iwrZ ;k [kSjkrh U;kl dh izÑfr gS % 
(A) vfuf’prrk 
(B) xq.koÙkk 
(C) ‘kk’orrk 
(D) mijksDr lHkh 

62. What are the essential elements of 
resulting trust ?  
(A)   Imperfect declaration  
(B) Unused residue  
(C) Want of consideration  
(D) All of the above  

 62. ifj.kkeh U;kl ds vko’;d rRo gSa \ 

(A) viw.kZ ?kks”k.kk 

(B) viz;qDr vof’k”V 

(C) izfrQy dk vHkko 

(D) mijksDr lHkh 

63. Which of the following types of 
trust is void ? 
(A)   A trust for the invention of a 

new Pan-European language 
(B) A Trust for the purposes 

beneficial to the public 
(C) A trust to build a swimming-  

pool for the employees of 
company limited 

(D) None of the above  

 63. fuEufyf[kr esa ls fdl izdkj dk U;kl ‘kwU; 
gS \ 
(A) ,d ,slk U;kl tks u;s iSu&;wjksfi;u 

Hkk”kk dh [kkst djus ds fy, gS 
(B) ,d ,slk U;kl ftldk mÌs’; yksd 

fgr gS 
(C) ,d dEiuh fyfeVsM ds fu;ksfDurks ds 

fy, rj.k rky ds fuekZ.k gsrq U;kl 
(D) mijksDr esa ls dksbZ ugha 
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64. Which of the following 
transactions is effective and 
enforceable without formality ?  
(A)   Declaration of trust of a legal 

interest in land 
(B) Transaction giving rise to a 

constructive trust 
(C) Deposition of an interest 

under an existing trust  
(D) None of the above  

 64. fuEufyf[kr esa ls dkSu ls laO;ogkj fcuk 
vkSijpkfjdrk ds izHkkoh vkSj izorZuh; gS \ 
(A) Hkwfe esa fof/kd fgr ds U;kl dh 

?kks”k.kk 
(B) ,d jpukRed U;kl esa lEO;ogkj dk 

mRiUu gksuk 
(C) orZeku U;kl esa fgr dk LoHkko 
(D) mijksDr esa ls dksbZ ugha 

65. For which type of property must a 
declaration of trust be proved by 
writing ?  
(A)   Shares  
(B) Contractual rights  
(C) Land  
(D) None of the above  

 65. fdl izdkj dh lEifÙk dh ?kks”k.kk U;kl esa 
fyf[kr :Ik esa gksuh pkfg;s \ 
(A) ‘ks;j 
(B) lafonkRed vf/kdkj 
(C) Hkwfe 
(D) mijksDr esa ls dksbZ ugha 

66. In a trust, which of the following 
statement does not apply to 
trustees ? 
(A)   The trustees hold the legal 

estate  
(B) The trustees hold the 

equitable interest only  
(C) The trustees hold legal and 

equitable interest  
(D) The trustees pay income to 

the beneficiaries  

 66. U;kl esa U;kfl;ksa ds fo”k; esa dkSu lk dFku 
ykxw ugha gksrk \ 
(A) U;klh dkuwuh lEifÙk /kkfjr djrk gS 
(B) U;klh dsoy lkE;iw.kZ fgr/kkfjr djrk 

gS 
(C) U;klh lkE;iw.kZ vkSj fof/kd lEifÙk 

/kkfjr djrk gS 
(D) U;klh fgrkf/kdkfj;ksa dks ykHk dk 

Hkqxrku djrs gSa 
67. What is the difference between a 

trust and Agency : 
(A)   Trustees have a fiduciary 

duty agent do not  
(B) Trustees hold trust property, 

Agents do not 
(C) Trustees must not make 

unauthorized profits, agent 
may  

(D) Trustees may not delegate 
their duties, Agents may  

 67. U;kl vkSj vfHkdj.k ds e/; vUrj gS % 
(A) U;klh dk oS’okfld drZO; gS] 

vfHkdrkZ dk ugha 
(B) U;klh U;kl lEifÙk /kkfjr djrk gS 

vfHkdrkZ ugha 
(C) U;klh vukf/kÑr ykHk vftZr ugha dj 

ldrk] vfHkdrkZ dj ldrk gS 
(D) U;klh vius nkf;Roksa dk izR;k;kstu 

ugha dj ldrk tcfd vfHkdrkZ dj 
ldrk gS 
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68. Which of the following is not a 
characteristic of a trust ?  
(A)   The beneficiaries give no 

consideration  
(B) The beneficiaries have 

proprietary rights  
(C) The beneficiaries may sell 

their equitable interests 
(D) The beneficiaries may 

enforce the trusts against the 
settlor  

 68. fuEufyf[kr esa ls dkSu U;kl dh fo’ks”krk 

ugha gS \ 

(A) fgrkf/kdkjh izfrQy ugha nsrk 

(B) fgrkf/kdkjh dks ekfydkuk vf/kdkj 

gksrk gS 

(C) fgrkf/kdkjh vius lkE;iw.kZ fgrksa dk 

foØ; dj ldrk gS  

(D) fgrkf/kdkjh U;kl dks vuqnkudrkZ ds 

f[kykQ izofrZr djk ldrk gS 

69. What are the classification of 
trusts according to their objects ?  
(A)   Private trust 
(B) Public trust 
(C) Charitable trust  
(D) All of the above  

 69. U;kl ds mÌs’;ksa ds vuqlkj U;kl dk D;k 
oxhZdj.k gS \ 
(A) futh U;kl 
(B) yksd U;kl 
(C) [kSjkrh U;kl 
(D) mijksDr lHkh  

70. The classification of trust 
according to the nature of the 
duties of the trustees ? 
(A)   Simple trust 
(B) Specific trust 
(C) Both (A) and (B) 
(D) None of the above  

 70. U;kl/kkjh ds drZO; dh izÑfr ds vuqlkj 

U;kl dk oxhZdj.k gS % 

(A) lk/kkj.k U;kl 

(B) fof’k”V U;kl 

(C) mijksDr nksuksa (A) vkSj (B) 

(D) mijksDr esa ls dksbZ ugha 

71. When can a trustee be competent 
to contract, to execute a trust ?  
(A)   It is a public trust 
(B) Where the trust involves the 

exercise of discretion  
(C) If there are more than one 

trustees  
(D) None of the above  

 71. tc dksbZ U;klh lafonk djus esa leFkZ gS og 

,d U;kl xfBr dj ldrk gS \ 

(A) ;fn og ,d yksd U;kl gS  

(B) tgk¡ U;kl esa foosdh; ‘kfDr;ksa dk 

iz;ksx vuqer gS 

(C) ;fn ,d ls vf/kd U;klh gSa 

(D) mijksDr esa ls dksbZ ugha 
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72. Every trust of which the purpose is 
unlawful is : 
(A)   Void 
(B) Voidable 
(C) Valid but not enforceable  
(D) None of the above  

 72. izR;sd U;kl ftldk mÌs’; vfof/kd gS] og 
gS % 
(A) ‘kwU; 
(B) ‘kwU;dj.kh 
(C) oS/k fdUrq vizorZuh;  
(D) mijksDr esa ls dksbZ ugha 

73. To whom Indian Trusts Act shall 
apply ? 
(A)   Public, private, religious or 

charitable organizations 
(B) The law relating to private 

trust and trustees  
(C) Mutual relations of members 

of an undivided family  
(D) Every trust for distribute 

prizes  

 73. fdu ij Hkkjrh; U;kl vf/kfu;e ykxw gksrk 
gS \ 
(A) yksd] izkbosV] /kkfeZd ,oa iwrZ laxBuksa 

ij  
(B) izkbosV VªLV ,oa U;kfl;ksa ls lEcfU/kr 

fof/k ij 
(C) vfoHkDr ifjokj ds lnL;ksa ds vkilh 

lEcU/kksa ij 
(D) buke ck¡Vus okys lHkh U;klksa ds Åij 

74. Which Section of the Indian Trust 
Act. Describes the competent 
person to become trustee ?  
(A)   Section-9 
(B) Section-10 
(C) Section-11 
(D) Section-12 

 74. Hkkjrh; U;kl vf/kfu;e dh fdl /kkjk esa 
,d l{ke U;klh dks ifjHkkf”kr fd;k x;k 
gS\ 
(A) /kkjk&9 
(B) /kkjk&10 
(C) /kkjk&11 
(D) /kkjk&12 

75. Can a trust be created by on behalf 

of a minor ? 

(A)   Yes, with the permission of a 

civil court of original 

jurisdiction  

(B) No 

(C) Partly true 

(D) None of the above  

 75. D;k ,d vo;Ld ds fy, U;kl xfBr fd;k 

tk ldrk gS \ 

(A) gk¡ ekSfyd {ks=kf/kdkj j[kus okys 

flfoy U;k;ky; dh vuqefr ls  

(B) ugha 

(C) va’kr% lR; 

(D) mijksDr esa ls dksbZ ugha 
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76. What are the necessary elements 

for constituting a trust ?  

(A)   Intention to create a trust  

(B) Purpose of the trust  

(C) Beneficiary of trust 

(D) All of the above  

 76. ,d U;kl ds xBu ds fy, D;k vko’;d 

‘krZsa gksrh gS \ 

(A) U;kl ds xBu gsrq vk’k; 

(B) U;kl dk mÌs’;  

(C) U;kl ds fgrkf/kdkjh 

(D) mijksDr lHkh  

77. The Indian Trust Act does not 
apply to public trust the statement 
is : 
(A)   True 
(B) False 
(C) Partly true 
(D) None of the above  

 77. Hkkjrh; U;kl vf/kfu;e yksd U;kl ij ykxw 

ugha gksrk ;g dFku gS % 

(A) lR; 

(B) vlR; 

(C) va’kr% lgh 

(D) mijksDr esa ls dksbZ ugha 

78. Who among the following has a 

right to the rents and profits of the 

trust property ?  

(A)   Trustee 

(B) Author of the trust  

(C) Beneficiary  

(D) None of the above  

 78. fuEufyf[kr esa ls dkSu U;Lr lEifÙk ls 

fdjk;k vkSj YkkHk izkIr djus dk vf/kdkjh 

gS\ 

(A) U;klh 

(B) U;kl dk ys[kd 

(C) fgrkf/kdkjh 

(D) mijksDr esa ls dksbZ ugha 

79. Can a trustee buy or become 
mortgage or lessee of the trust 
property ? 
(A)   Yes 
(B) No 
(C) Yes, only with the permission 

of principle civil court and if 
the manifestly for the 
advantage of the beneficiary 

(D) None of the above  

 79. D;k ,d U;klh U;Lr lEifÙk dk Ø;] cU/kd 

;k iV~Vk dj ldrk gS \ 

(A) gk¡ 

(B) ugha 

(C) gk¡] dsoy eq[; flfoy U;k;ky; ds 

vuqefr ls vkSj ;fn ,slk Ø;] cU/kd 

,d iV~Vk fgrkf/kdkfj;ksa ds ykHk ds 

fy, vk’kf;r gks  

(D) mijksDr esa ls dksbZ ugha 
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80. The beneficiary is entitled to have 
the intention of theauthor of the 
trust specifically executed to the 
extent of the beneficiary interest 
the statement is : 
(A)   True 
(B) False 
(C) Partly correct 
(D) None of the above  

 80. ,d U;kl esa fgrkf/kdkfj;ksa dk vk’k; mlds 
ys[kd ds izfr ;g vk’kf;r gksrk gS fd og 
mldk xBu fgrkf/kdkfj;ksa ds fgrksa dk 
fo’ks”k /;ku j[kdj djs % 
(A) lR; 
(B) vlR; 
(C) va’kr% lgh 
(D) mijksDr esa ls dksbZ ugha 

81. According to Section 60 of the 
Indian Trust Act that beneficiary 
has right that trust property shall 
be :  
(A)   Property protected  
(B) Administered by proper 

person  
(C) Administered by proper 

member of persons 
(D) All of the above  

 81. Hkkjrh; U;kl vf/kfu;e ds /kkjk&60 ds 

vuqlkj ,d U;kl lEifÙk esa fgrkf/kdkjh ds 

vf/kdkj gksrs gSa % 

(A) Bhd <ax ls lajf{kr  

(B) mfpr O;fDr }kjk izcU/ku 

(C) mfpr la[;k esa O;fDr;ksa }kjk izcfU/kr 

(D) mijksDr lHkh  

82. Can a beneficiary transfer his 
interest ? 
(A)   Yes 
(B) No 
(C) Only if he is competent 

contract  
(D) None of the above  

 82. D;k fgrkf/kdkjh vius fgrksa dk LFkkukUrj.k 
dj ldrk gS \ 
(A) gk¡ 
(B) ugha 
(C) dsoy ;fn og lafonk ;ksX; gks 
(D) mijksDr esa ls dksbZ ugha 

83. Who among the following are not 
proper person who can administer 
trust with in the meaning of 
Section 60 of Indian Trust Act ?  
(A)   An alien enemy  
(B) A person domiciled abroad  
(C) A person having an interest 

inconsistent with that of the 
beneficiary  

(D) All of the above  

 83. /kkjk&60 Hkkjrh; U;kl vf/kfu;e ds vqulkj 
dkSu&lk O;fDr mfpr O;fDr ugha gS tks 
U;kl dk O;oLFkkid cu lds \ 
(A) ,d fons’kh ‘k=q 
(B) ,d fons’kh vf/koklh  
(C) fgrkf/kdkfj;ksa ds fgrksa tSlk fgr 

j[kus okyk O;fDr 
(D) mijksDr lHkh  
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84. Who among the following cannot 
be trustee unless the personal law 
of the beneficiary allows 
otherwise? 
(A)   A minor 
(B) A married woman  
(C) Both (A) and (B) 
(D) None of the above 

 84. fuEufyf[kr esa ls dkSu U;klh ugha gks ldrk 
tc rd fgrkf/kdkfj;ksa dh O;fDrxr fof/k 
vU;Fkk vuqKk ugha nsrh \ 
(A) ,d vo;Ld 
(B) ,d fookfgr efgyk 
(C) mijksDr nksuksa (A) vkSj (B) 
(D) mijksDr esa ls dksbZ ugha 

85. The trustee has no right to be 
reimbursed for :  
(A)   The expenses made by him 

for improvement of the 
property  

(B) The expenses reasonably 
necessary to the due 
administration of trust  

(C) The preservation of trust 
property  

(D) The protection of rights of 
beneficiary  

 85. U;klh fuEufyf[kr esa ls fdlds Hkqxrku dh 

ek¡x ugha dj ldrk % 

(A) lEifÙk ds fodkl ds fy;s mlds }kjk 

fd;s x;s [kpZs ds fy,  

(B) U;kl ds iz’kklu gsrq mikftZr 

vko’;d ;qfDr;qDr [kpZs dk  

(C) U;kl lEifÙk ds laj{k.k ds fy,  

(D) fgrkf/kdkfj;ksa ds fgrksa dh laj{k.k ds 

fy,  

86. Under which Section of the Trust 
Act 1882 the definition of the 
breach of trust is provide ?  
(A)   Section-1(d) 
(B) Section-2 
(C) Section-3 
(D) Section-5 

 86. U;kl vf/kfu;e 1882 dh fdl /kkjk esa 

U;klHkax dks ifjHkkf”kr fd;k x;k gS \ 

(A) /kkjk&1(d) 

(B) /kkjk&2 

(C) /kkjk&3 

(D) /kkjk&5 

87. Who said “Trust is the very centre 
and kernel of Equity ?” 
(A)   Bacon  
(B) Story  
(C) Snell  
(D) Hanbury 

 87. fdlus dgk Fkk U;kl lkE;k dk dsUnzfcUnq 
vkSj xqByh gS \ 
(A) csdu 
(B) LVksjh 
(C) Lusy 
(D) gSucjh  
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88. Who out of the following cannot 
create a trust ?  
(A)   A person of 21 years of age  
(B) An Advocate  
(C) A minor  
(D) A Juristic person  

 88. fuEufyf[kr esa ls dkSu ,d U;kl dk fuekZ.k 
ugha dj ldrk gS \ 
(A) 21 o”kZ dk O;fDr 
(B) ,d vf/koDrk 
(C) ,d vo;Ld 
(D) ,d U;kf;d O;fDr  

89. Which of the following Sections of 
the Indian Trust Act deals with 
liability for breach of trust ?  
(A)   Section-20 
(B) Section-21 
(C) Section-22 
(D) Section-23 

 89. Hkkjrh; U;kl vfu/kfu;e dh dkSu lh /kkjk 
U;klHkax ds fy, nkf;Ro dh ckr djrh gS \ 
(A) /kkjk&20 
(B) /kkjk&21 
(C) /kkjk&22 
(D) /kkjk&23 

90. Which one of the following is not 
necessary for the creation of trust ?  
(A)   The author of Trust  
(B) Trustee  
(C) Legal representative  
(D) Beneficiary  

 90. ,d U;kl ds fuekZ.k esa fuEufyf[kr esa ls 
dkSu vko’;d ugha gS \ 
(A) U;kl dk ys[kd 
(B) U;klh  
(C) fof/kd izfrfuf/k 
(D) fgrkf/kdkjh  

91. Rights of beneficiaries are 
provided under which Sections of 
Indian Trust Act ?  
(A)   Section 51 to 65 
(B) Section 53 to 67 
(C) Section 55 to 69 
(D) Section 57 to 71 

 91. fgrkf/kdkfj;ksa ds vf/kdkjksa dh O;oLFkk 
Hkkjrh; U;kl vf/kfu;e dh fdl /kkjk esa dh 
x;h gS \ 
(A) /kkjk & 51 ls 65 
(B) /kkjk & 53 ls 67 
(C) /kkjk & 55 ls 69 
(D) /kkjk & 57 ls 71 

92. Which one of the following can 
create trust ?  
(A)   convict  
(B) Lunatic  
(C) Alien  
(D) Infant  

 92. fuEufyf[kr esa ls dkSu ,d U;kl dk fuekZ.k 
dj ldrk gS \ 
(A) nks”kfl) 
(B) ikxy 
(C) fons’kh 
(D) f’k’kq 
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93. Who among the following cannot 
become beneficiary ?  
(A)   The Government  
(B) Unborn Child  
(C) Corporation  
(D) Alien  

 93. fuEufyf[kr esa ls dkSu fgrkf/kdkjh ugha gks 
ldrk \ 
(A) ljdkj 
(B) vtUek ckyd 
(C) fuxe 
(D) fons’kh 

94. Which of the following 
circumstances is likely to defeat an 
in personam claim ?  
(A)   The defendant’s death  
(B) The defendant’s personal 

insolvency  
(C) The claimant has suffered no 

personal injury  
(D) The defendant is a company  

 94. fuEufyf[kr esa ls dkSu lh ifjfLFkfr;k¡ 
O;fDrxr nkos dks ijkftr djrk gS \ 
(A) izfroknh dh eR̀;q 
(B) izfroknh dk O;fDrxr fnokfy;kiu  
(C) nkok djus okyk fdlh O;fDrxr gkfu 

ls izHkkfor ugha gS 
(D) izfroknh ,d dEiuh gS  

95. Which of the following 
propositions is always true :  
(A)   The trustee hold legal title to 

the trust property  
(B) The trustee is not a 

beneficiary of the own trust  
(C) A trustee is never the 

absolute owner of trust 
property  

(D) None of the above  

 95. fuEufyf[kr esa ls dkSu lk dFku ges’kk lR; 
gS % 
(A) U;klh U;kl lEifÙk dk fof/kd LoRo 

/kkfjr djrk gS 
(B) U;klh vius U;kl dk fgrkf/kdkjh ugha 

gksrk 
(C) U;klh U;kl lEifÙk dk dHkh Hkh iw.kZ 

Lokeh ugha gksrk 
(D) mijksDr esa ls dksbZ ugha 

96. To make defendant liable as a 
constructive trustee, it must be 
proved that the defendant : 
(A)   Had actual knowledge that 

would make it 
unconscionable to retain the 
trust property 

(B) Shut his eyes to the fact that 
he was receiving trust 
property in breach of trust  

(C) Both (A) and (B) 
(D) None of the above  

 96. izfroknh dks jpukRed U;klh ds :i esa 
mÙkjnk;h gksus ds fy;s] izfroknh }kjk ;g 
lkfcr djuk gksxk fd og % 
(A) U;kl lEifÙk dk /kkfjr fd;k tkuk 

mldh vpsrurk Fkh bl ckr dk 
okLrfod Kku  

(B) rc og ugha ns[k ik;k tc mlus 
U;kl Hkax dh lEifÙk xzg.k fd;k Fkk  

(C) mijksDr nksuksa (A)vkSj (B) 
(D) mijksDr esa ls dksbZ ugha 
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97. An essential element of ‘Death bed 
gift’ is :  
(A)   The handover of the front 

door key of the house  
(B) The handover of the 

possession of the house  
(C) The handover of the title 

deeds of the house  
(D) None of the above  

 97. ^eR̀;q ‘kŞ ;k nku** dk vko’;d rRo D;k gS\ 
(A) ?kj ds eq[; njokts dh pkHkh dk 

ifjnku 
(B) ?kj ds dCts dk ifjnku  
(C) ?kj ds LoRo foys[k dk ifjnku  
(D) mijksDr es ls dksbZ ugha  

98. In a mutual will, the consideration 
for the contract is :  
(A)   The couple promising not to 

revoke there will  
(B) The couple making mirror 

wills  
(C) The couple leaving property 

to each other  
(D) None of the above  

 98. ,d vkilh bPNki= esa lafonk dk izfrQy 
gS% 
(A) tksM+ks }kjk vius bPNk dk 

vizfrlagj.k dk opu 
(B) tksM+s }kjk ,d leku bPNk dk l̀tu  
(C) tksM+s }kjk ,d nwljs ds fy, lEifÙk 

dk ifjR;kx 
(D) mijksDr esa ls dksbZ ugha 

99. Why was “Sport” not traditionally 
regarded as charitable ?  
(A)   Because not all of sports 

benefit children  
(B) Because no sport could be 

open to all  
(C) Because it was not possible to 

decide which sports were for 
the public benefit 

(D) Because sports is not 
productive activities 

 99. D;ksa [ksy dks ijEijkxr :i esa [kSjkrh ugha 
ekuk tkrk gS \ 
(A) D;ksfd lHkh [ksy cPpksa ds fy, ugha 

gksrs 
(B) D;ksfd [ksy lcds fy;s [kqys ugha gSa 
(C) D;ksfd ;g fu.kZ; djuk laHko ugha fd 

dkSUk lk [ksy yksdfgr esa gS 
(D) D;ksfd [ksy ,d mRiknd fØ;k ugha 

gS 

100. Which of the following would not 
quality as a charitable trust for the 
advancement of education ?  
(A)   A trust to promote 

archaeology  
(B) A trust to promote nuclear 

disarmament  
(C) A trust to establish an art 

galley  
(D) None of the above  

 100. fuEufyf[kr esa ls dkSu lk [kSjkrh U;kl 
‘kSf{kd mUu;u ds mÌs’; ds fy;s LFkkfir 
U;kl ds :i esa mfpr ugha gS \ 
(A) iqjkrRo dks izksRlkfgr djus okyk 

U;kl  
(B) ijek.kq fujL=hdj.k dks izksRlkfgr 

djus okyk U;kl  
(C) dyknh?kkZ LFkkfir djus okyk U;kl  
(D) mijksDr esa ls dksbZ ugha 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the first most option will be considered valid.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  


